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Proposition : Let S CV be a subset  of  a vector space V
.
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Pinot C Sketch of proof )

( I ) ⇒ (2) i Suppose S is linearly independent .

One scenario ? Let I E Spam CS )
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Contradiction to the fact that S is linearly independent .
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Theorem : Let S be a linearly independent subset  of  a vector
space V .

Let Ii EV , S
.

Then : Su E E3 is linearly dependent iff
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Definition : A basis for  a vector space V is a subset pcv
Such that :

• p is linearly independent and
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Proposition : Let V be a vector space and p
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Theorem : Let V be a rector space and p = E it
,

,

I'
a ,

. .

,
Tin } CV

.

Then : p is basis for V if and only if  = f- I e ✓ !
( Unique )

at
,

Az
,  - - , an E F such that  =

C trail ) fin
,

' III.get ,

Ti = a ,
I

,
t aziizt . . .  tannin

,

✓ with p = { Is
,

0
, }

Pineapple
is associated with a unique 2

,
3

, 4 such

that Pineapple = 2 Es t 30 +4

Pineapple A ( I ) E 1123



Proof : ( ⇒ ) Suppose p is a basis for V
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.



Lemma : Let S be a linearly dependent subset  of a vector space V .
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